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7. 2x + 3y = 5 consistent, 8. x — 2y = 4 consistent, 9. y = 0.5x inconsistent
—6x — 9y = —15 dependent y=x-2 m:lependeni 2y =x+4
0. 9x — 5 = 7y consistent, 11. %1 -y=0 c_unsistem, 12. %_\- ,u consistent,
4.5x — 3.5y = 2.5 dependent 1 1 independent ) dependent
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Solve each system of equations by using substitution.
1. 2x + 3y =10 2. x=4y — 10 3. 3x — 4y = 27
x + 6y =32 (—4, 6) 5¢+ 3y = -4 (-2, 2) 2 +y=-7(-5,3)
Solve each system of equations by using elimination.
4. 7x +y=9 5.1+ 55 =17 6. 6p + 87 =20
5x —y =15 (2, —5) 2r —6s= -2 (=17, =2) 5p —4q = =26 (—2, 4)
Solve each system of equations by using either substitution or elimination.
7. 2x =3y =7 8. 2a+5bh=-13 9. 3c+4d=-1 1 1
3x + 6y = 42 (8, 3) 3a — 4b = 38 (6, —5) 6c—2d=3 (E’ —f)
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when you have 2 or more
inequahties w/ the same variables
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